Welcome To The Grow Up

VIDE CONTRACT CONTRACT CONTRACT CONTRACT CONTRACT CONTRACTOR CONT



About Us

The Grow Up is an online apparel brand dedicated to providing latest high street fashion for modern Men. We ensure that the designs are smartly created to complement the desires of the modern day men. We are committed to help you find and catch up with the latest trend through our wide range of apparels such as shirt, pant, Coat, Blazzers etc.

Men can enjoy the luxury of making a bold and unique fashion statement everywhere they go with the new, trendy and exciting designs that The Grow Up creates exclusively for them. We believe that modern women love buying our products as they define fashion what a woman needs and desires when it comes to high-quality clothing. Be it work, casual outing, formal dinner or nightclub, we have apparels for every occasion.

http://www.thegrowup.online/

C) THE GROWUP

PACKAGE -1 (RS. 2000) PACKAGE -2 (RS. 4000)

JOINING PACKAGES

http://www.thegrowup.online/

ALL YOUR CLOTHING NEEDS WE FULLFILL AT LOWEST PRICE

(C) THE GROWUP



LEVEL INCOME (RS.2000) (>> THE GRO'NUP

LEVEL	TEAM		TOTAL INCOME
1	10	X 300	3,000
2	100	X 150	15,000
3	1000	X 150	15,00,00
4	10000	X 50	5,00,000
5	100000	X 20	20,00,000
6	1000000	X 10	1,00,00,000
7	1000000	X 5	5,00,00,000
8	10000000	X 3	3,00,00,00,00
9	100000000	X 2	2,00,00,00,000
10	1000000000	X 1	1,00,00,00,00,00
			12,36,26,68,000

LEVEL INCOME (RS.4000)

LEVEL	TEAM		TOTAL INCOME
1	10	X 600	6,000
2	100	X 300	30,000
3	1000	X 300	3,00,000
4	10000	X 100	1,00,00,00
5	100000	X 50	5,00,00,00
6	1000000	X 20	2,00,00,000
7	1000000	X 10	1,00,00,00,00
8	10000000	X 5	5,00,00,00,00
9	100000000	X 3	3,00,00,00,000
10	1000000000	X 2	2,00,00,00,00,00
			23,62,63,36,000



C THE GROWUP

ON WORKING <u>100%</u> TOTAL INCOME WILL BE <u>Rs.1,54,48,125</u>.

ON WORKING <u>10%</u> TOTAL INCOME WILL BE <u>Rs.1,54,48,12</u>.

ON WORKING <u>1%</u> TOTAL INCOME WILL BE <u>Rs.1,54,48</u>.

🗘 THE GROWUP

REWARD INCOME

Sr.No.	TEAM	REWARD
1	25	SET OF GLASS
2	75	PRESS
3	250	DINNER SET
4	750	MIXER
5	2000	GOA TRIP
6	10000	FAMILY TRIP IN INDIA
7	100000	ALTO CAR

🗘 THE GROWUP

TERMS & CONDITIONS

Registration Free.
Daily Withdrawal, Weekly Payout, Instant payout. Minimum withdrawal amount limit is Rs.500.
Admin charge - 10%, TDS - 5%.

(C)> THE GROWUP

THANK YOU

www.thegrowup.online support@thegrowup.online Address : Baldauganj , Chitrakoot Dham Karwi Call Us on : 8756990166,8601423367